
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

이차다항식의인수분해

3x + 39x + 1262 x − 3x − 42

6x + 30x − 2162 7x + 34x + 242

x − 10x + 92 5x + 5x − 2802

x + 3x + 22 x − 10x + 252

x − x − 562 4x + 48x + 1402
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

이차다항식의인수분해

3x + 39x + 1262

3(x + 6)(x + 7)

x − 3x − 42

(x + 1)(x − 4)

6x + 30x − 2162

6(x − 4)(x + 9)

7x + 34x + 242

(7x + 6)(x + 4)

x − 10x + 92

(x − 1)(x − 9)

5x + 5x − 2802

5(x + 8)(x − 7)

x + 3x + 22

(x + 2)(x + 1)

x − 10x + 252

(x − 5)(x − 5)

x − x − 562

(x − 8)(x + 7)

4x + 48x + 1402

4(x + 5)(x + 7)

www.snowmath.com

https://www.snowmath.com

